Tackle the Test; Muitiple-Choice Questions

. 1. Which of the following is true? The simple circular-flow diagram
L includes only the product markets.
I1. includes only the factor markets.
1. is a simplified representation of the macroeconomy.
a Tonly
b. IT only
¢. Ionly
4. Iand I only
e. none of the above

2. GDPisequalto

a. the total value of all goods and services produced in an
economy during a given petiod

b C+I+G+IM.

¢. the total value of intermediare goods plus final goods.

d. the rotal income received by producers of final goods and
seevices.

e. none of the above,

3. Which of rhe following is included in GDP?
a. changes o inventoties

intermediate goods

used goods -

. financial assets (srocks and bonds)

foreign-produced goods

c AN g

4. Which of the following is not incloded in GDp?

capital goods such as machinery

impotts

the value of domestically produced services
government purchases of goods and services
the construerion of strucrures

PPaFP"P’

5. Which of the following components makes up the largest

percentage of GDP measured by aggregate spending?
2. consumer spending

b. investment spending

c. government purchases of goods and services
d. exporis -

e. imports

Tackle the Test: Free-Response Questions

1. Will each of the following transactions be included in GDP for
the United States? Bxplain why or why not.
a. Coca-Cola builds a new bottling plant in the United States.
b. Delta sells one of its existing airplanes to Korean Air.
£ Ms, Moneybags buys an existing share of Disney stock.
d. A California winery produces a bottle of Chardonnay and
sells it to a customer in Montreal, Canada.
An American buys a bottle of French petfume in Tulsa,
£ Abook publisher produces too many copies of a new book:
the books dor’t sell this year, so the publisher adds the
surplus books to inventories.

14

:.'Answer (6 polnts)

oint: Yos. New structuros bult in the Unhted States re Included i U.S, GDP
1 point: No, The airplane is used, and sales of used goods are not included in GDP.
1 Poist: Mo, This Is & transfer of ownership—nof new production.

_:1 Puint: Yes, This is an export.

_ 1 point; N, This is an Impari—it was not producad in the United States.

E_-_'_1 point: Yes. Additians 1o inventories are considered investmants.
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2. Draw a correctly labeled circutar-flow diagram showing the

flows of funds between the markers for goods and services
and the factor markets. Add the government to your diagram,
and show how money leaks out of the economy 1o the
government and how money is injected back into the
economy by the government. ‘
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just suffering from unusua[ly high inffation. The hgure showss.
- Venezuela’s nominal and real GOP from 1997 to 2007, with

‘ period, but at an annual rate of only 2.9%. That s about the
-asthe U.S. growth rate over the same panﬂd ang far.short 0
.Gh_in_a's 9% growth.

“Miracle in Venezuefa? S
" . The South American nation of Venezuela has a distinction that,
I may surprise you: in recent years, it has had one of the Wu_r!d’s-
- [ fastest-growing nominal GDPs. Between 1997 and 2007, -
-+ Venezuelan nominal GDP grew by an average of 23% aach L
. year—much faster than nominal GBP in the Umted Statm'l or even L
- in booming economies fike China. S

50 is Venezuela axperiencing an economic fmrac!e? to, it’s

real GDP measured in 1997 prices. Real GDP m

Source; Bancu Central de Venezuela,
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Solutions appmatrbe back of the book.

Check Your Understandmg

1. Assumesxhere are only rwo goods in the economy, french fries
and onion rings. In 2009, 1,000,000 servings of french fties were
sold for $0.40 each and 800,000 servings of onion rmgs were
sold for $0.60 each. From 2009 to 2010, the price of french fries
tose to $0.50 and che servings sold fell to 900,000; the price of
onion rings fell to $0.51 and the servings sold rose to 840,000,
a. Calculate nothinal GDP in 2009 and 2010. Calculare real

GDP in 2010 using 2009 prices.

b. Why would an assessment of growth using nominal GDP
be misguided?

2. From 1950 to 2000 the price of housing rose dramarically.
What are the implications of this in deciding whether to use
1980 or 2000 as the base year in calculating 2010 real GDP?

Tackle the Tesi: Multiple-Choice Questions

1. Which of the following is true of real GDP?
L Ir is adjusted for changes in prices.

II. It is always equal to nominal GDP.
I It increases whenever aggregate OULpUL Increases.
Ionly
T only
Hlonly
. Iand II
LI and 11T

2. The best measure for comparing a country’s aggregare output
ovet time ic
a. nominal GDP.
b. real GDP.

L = T = ]
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¢. nominal GDP per capita.
d. real GDP per capita.
e. average GDP per capira.

* 3. Use the information provided in the table below for an

economy that produces only apples and oranges. Assume year |
is the base year,

Year 1 Year 2
Quantity of apples B,UU_D _ _ 4,000 )
Price of an apple $0.20 50,30
Quantlty of oranges 2,000 _ 3,000 B
Prlce of an orange $0.40 $0.50

B T U




\what was the value of real GDP in each year?

Year 1 Year2
4 $1,400 $2,700
b. 1,900 2,700
c. 1,400 2,000
4 1,960 2,000
e 1,400 1,900

4. Real GDP per capita is an imperfect measute of the quality of

ife in part because it

includes the value of leisure tme.

excludes expenditares on education.
includes expenditures on namiral disastets.
_ excludes expenditures on entertainment.
includes the value of housework.
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Refer to the 2009 data in the table below.

. ominal GOP In biffons of dolers -

United States

Japan

"Eurc;[-iédn Union

o i e a s FLTE

Which of the following must be true?
L Residents of Japan were worse off than residents of the

United States or the Furopean Union.
11, The Buropean Union had a higher nominal GDP per
capita than the United States.
iIT. The European Union had alarger economy than the
Unired States.
a. Ionly
b. Tonly
c. Olonly
d. MandII
e, 11§, and 1Tl

1. The economy of Britannica produces three goods: COMPULETS,
WDs, and pizza. The accompanying table shows the prices and
output of the three goods for the years 2008, 2009, and 2010.

Compuiars DVDs Pizza
Yaar pice  Ouanlity Price  Quantity Price  Quantity
2008 $o00 10 $10 100 $15 2
a8 o0 o5 1z 105 16 2
0% 12 14 o 17 3

2610

i 'What is the percent change in computer production from
2008 to 20092

b, What s the percent change in the price of pizza from
re 20107

¢. Calculace nominal GDP in Britannica for 2008,

d Caleulate real GDP in Britannica for 2008 usiog 2008 as the
base year.

e, Caleulate real GDP in Brirannica for 2010 using 2008 as the
ba—‘i? YEE.E,

2009

.._ﬁﬁmwer {5 points}
1 polnts 0.5110 x 100 = 5%
. 1pan B1/816 x 100 = 5.25%
el (8900 x 10) 4 (510 100) + 515 x 2 =$3,000-+ §1,000-+ $30 =§10.080

point: Real GDP g i : .
" ! quals norminal GDP in the base year, 50 this answer IS the
e asin part c. yea5e

P
_ff;:s{Egoox 12) 4 (§10 % 110) + ($15 x 3) = $10,800 + $1,100 + $45 =

El
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3 Use the informatio

1 in the rable below to answer the following
questions. ’
Caleulate the percent increase in nominal GDP between
2005 and 2010 for each country.

b. What happened to the price level in each country between

2005 and 20107

Calculate real GDP in each country in 2010, using 2003 as

the base year.

4. Calculate the percent inc
2010 for each country.

e. Compare the two coumtres real GDP pet capita in 2010

using 2005 as the base year.

a.

vease in real GDP between 2005 and.

Year Nominal GDP Price Level Papulation ¢
Country A - _
2005 $2,000 $100 10
2010 ;4000 100 20
Country B _ _ _ :
2005 %200 g0 10 :-
2010 _ 6,000 _ _ 200 15 _
Interpreting Real Gross Domestic Product 117



e. Natasha, a graduate student, went back to school because

jobs were scarce.
3. Which of the following are consistent with the observed
relationship between growth in real GDP and changes inthe
unemployment rare? Which are not?

a. Arisein the unemployment rate accompanies 2 fall in
real GDP.

b. An exceptionally strong business tecovery is associared
with a greater percentage of the labor force being employec],

c. Negative real GDP growth is associated with a fall in the
unemployment rate.

Tackle the Test: Muttiple-Choice Questions

{. To be considered unemployed, a person must
I not be working,
IL be actively seeking a job.
11L be available for work.
Lonly
M only
I only
. MMand T8I
111, and HiI

P TR

Use the information for a hypothetical economy presented in the
following rable to answer questions 2, 3, and 4.

Population age 16 and older = 200,000
Labor Force = 100,000

Nurnber of people wcrking |'J?1ﬁ time = 20, 000
Number of people working | full time = ?0 DDD

2. Whatis the labor force participation rate?
a. 70%
b. 50%
o 20%

. How rnany people are unemployed?

4. What is the unemployment race?

. The unemployment problem in an economy may be

;¢ job candidates with one offer but waitmg for more.

d. 10%
g 5%

10,000
20,000
30,000
100,000
110,000

P RN TR

70%
50%
20%
10%
5%

oo TP

understated by the unemploymenc rate due te
a. people lying abour seeking a job.
b. discouraged workers.

d. overemployed workers.
e. none of the above,

Tackle the Test: Free-Response Questions

1. Use the data provided below to calculare each of the following.
Show how you calculate each.
a. the size of the labor force
b. thelabor Force participation rate
c. the unemployment rate

Population age 16 and older = 12 million
Employment = § million
Unemployment = 1 million

Answer (6 points)

T polnt: 6 million

T point: employment + unemployment = & million +1 miliion = & rillien
1 point. 50%

T point: (labor force/population) x 100 = (5 million + 1 millen}/12 milfion) <
100 = (6 millionA 2 miflian x 100 = 50%

1 paint; 17%

Tpoint: {unemploymenti/tabor force) > 100 = {1 milkion/(3 million +1 milliom) %
100 = (1 million/6 million) 100 = 17%
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. What is the labor market classification of each of the following

individuals? Be as specific as possible, and explain your answet.

a. Julie has a graduate degree in mechanical engineering. She
works full-time mowing lawns,

b. Jeff was laid off from his previous job. He would very much
like to work at any job, but, after looking for work for a year,
has stopped Looking for work.

c. lanis working 25 hours per week at a bookstore, and has no
desire to work full rime.

d. Rajhas decided to take a year off from work to stay home
with his daughter.

The Meaning and Calculation of Unemployment 125




Tackle the Test: Multiple-Choice Questions

1. A person who moved to 2 new state and took two months to
find a new job experienced which type of unemployment?

i

2 Frictiomal
b. structural
C. cychcal
d. parural
e. none of the above
2. What type of unemployment is created by a recession?
frictional
. structutal
cyclical
natural
none of the above

oo oW

3. Aperson who is unemployed because of a mismarch between
the quantity of labor supplied and rhe quantity of labor
demanded is experiencing what type of unerployment?

a. frictional
b. structural
c. cyclical

. Which of the following is true of the natural rate of

. Which of the following can affect the narural rate of

e e G

d. natural
e. note of the above

unemployment?
L It includes fricdonal unemployment.
II. Ir includes structnral unemployment.

II. It is equal to 0%.

Ionly

IT only

I only

. TandII

L 1L, and II

LA =V T

unemployment in an economy over time?

a. labor force characreristics such as age and work experience
b. the existence of labor unions

. advances in technelogies that help workers find jobs

d. government job training programs
e

. all of the above

Tackle the Test: Free-Response Questions

1. a. Define the narural rate of unemployment.
b. The natural rate of unemployment is made up of which of
the types of unemployment?
t. Explain how cyclical unemployment refates to the narural

rate of unemployment.
cl. List three factors that can lead to a change in the natural
rate of unemployment.

Answer (7 points)

1 point: The natural rate of unemployment is the normal unemployment rate
around which the actual unermployment rate fluctuates.

1 point: The natural rate of unemployment s made up of friction
unemployment . . . :

1point: ... plus structural unemployment.

1 point: Cyclical unemployment is the deviation of the actual rate of
“_nemNU:-'rnent from the natural rate. Or, cyclical unemployment is the
Uiterence betwsen the actual and natural rates of unemployment,

1 point: Changes in labor force characteristics
1 poink: Changes in labor market insthutions such as unions

1 point: Changes in governmant policies

. In each of the following situations, what type of unemployment

is Melanie facing? Explain.

a. After completing a complex programming project,
Melanie is laid off. Her prospects for a new job requiting
similar skills are good, and she has signed up witha
programmer placemenct service, She has passed up offers
for low-paying jobs.

b. When Mefanie and her co-workers refused to accept pay
cuts, her employer oursourced their programming rasks to
workers in another country. This phenomenon is occurring
throughour the programming industry.

c. Due to the current slump in investment spending, Melanie
has been laid off from her programming job. Her employer
promises to rehire her when business picks up.

modute 13 The Causes and Categories of Unemployment 133
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Solutions appear at the back of the baok,

Check Your Understanding

L. The widespread use of technology has revolutionized the
banking industry, making it much easier for customers to
" access and manage their assets. Does this mean that the
shoe-leathet costs of inflation are higher or lower than they
used to be? Bxplain.

- Most people in the United States have grown acoustomed g ,

modest inflation rate of around 2-3%. Who would gain and wj,
would lose if inflarion came to a complete stop for severa]
years? Explain.

Tackle the Test: Multiple-Choice Questions

1. Which of the following is true regarding prices in an econarmy?
L An increase in the price level is called inflarion.
IL The level of prices doesn’t matter,
I The rate of change in prices matters.
Lonly
. [T only
11T only
- IT and IIl only
I, I, and III

LIV W=

2. If your nominal wage doubles at the same titne as ptices double,
your real wage will

increase.

decrease

not change.

double.

be impossible to determine,

Pon g e

3. Hinflation causes people to frequently convert their dollars
into other assets, the economy expetiences what type of cost?
a. price level ¥

b. shoe-leather

. Because dollars are used as the basis for contracts, inflation

- Changing the listed price when inflation leads to a price.

C. menua
d. unit-of-accounr
¢, monerary

leads ro which type of cost?
a. price level
. shoe-leather
menu
. unir-of-account

o N o

monetary

Increase is an example of which type of cost?
a. price level
. shoeleather
menu
. Unit-of-account

L~ AR

monetary

Tackle the Test: Free-Response Questions

L. In the following examples, is inflation creating winners and
losers at no net cost to the economy or is it imposing a net cost
on the economy? Explain, If inflation is imposing a net cost on
the economy, which type of cost is involved?

a. When inflation is expected to be high, workers get paid more
frequently and make more trips to the bank.

b. Lanswei is reimbutsed by her company for her work-relared
travel expenses. Sometimes, however, the company takes a
long rime to reimburse her. So when inflation is high, she is
less willing to travel for her job,

140 section 3 Measurement of Economic Performance

<. Hecror Homeowner has a mortgage loan that he rook our
five years ago with a fixed 6% nominal interest rate. Ovec the
years, the inflation rate has crept up unexpectediy ro its
present level of 7%,
d. In response to unexpectedly high inflarion, the manager of
Cozy Cottages of Cape Cod must reprine and resend
expensive color brochures correcting the price of rentals this
season.




apswer (11 points)
::'3 oolnt: There s a net cost to the economy,

8!
“jnfiatlon.
.”Fogm_ This type of cost is called @ shoe-leather cost,

1 joint: There Is & net cost o the economy.
;.i:'paint: Lanwef's forgane output is a cost 1o the economy.
'% point: This type of cost is calied a unit-of-account cost.
T point: There is no net cost to the economy.

_1 poini: Hector gaing and the bank loses because the monay Hector pays bar:k
“jaworlh lass than expected. _

3'_1 paint; There is a net cost to the economy.

. -'1 point: Cozy Cottages must reprint and resend the expen:sn:e bmchure when
. Irftation causes rental prices to rise.

: 1 point: This type of cost Is called a menu cost,

y point: Thie is an increase in he cost of financial transactlnns ocst imposed by. _

R T S e A B

2. You borrow $1,000 for one year at 5% interest to buy a couch.
Although you did not anticipate any inflation, chere is
unexpected inflation of 5% over the life of your loan.

a. What was the real interest rate oq, your loan?
b. Bxplain how you gained from the inflation.
¢ Who lost as a result of the situation described? Explain,

141
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